20222| A SO 0|AH o ME]

2Kt 0]




20229 = ZGO|A O ME H2X} F=71E%H of L(2h
1. Mot My

2022 SYOIOIA O M2Xt =7t oot B2l AbRE Bt 2Lt
=1
O
=AH(EA) UL TE ool St
=
@ M2g SXZ2E, MHX[Fe XS0 mHE oflatel St

=] o
@ AZEHST SAIH X[-F K0 mHE ool St

—

1 MYUE 66948 A S7H
@ M2A SAH[(EA)QIYMO| M2 =2 7t 894H A
@ M2d SXIZQE, MHX|YZ K20 2 =2 7t : 34008
@ UHZEHST SAE X3 X0 @2 ofAte] 7t : 2,400H &

2) HELHE (6,694 & S
@ M2A| SAH[(EA)QIYMO| M ofAte] 37t 894H
@ M2d SXIZQE, MHX|YZ K20 e ofLte] F7t: 3,400 A
@ UHZEHST SAE X3 X0 @2 ofAte] 57t : 2,400H &




= T
S=

2022'3 = SZHIOIAHIOME] 2%} =F MIY-MIZ 0l

S

CHel: M)
D) N E
7 i",ﬁ;ﬁ}‘ Mo 20282% ) e S 20228 1% 20228 28| g g
F30uA) FEZA0|A(B) FA0LHA) FZA0f|2B)
) 404,099 410,793 6,694 g oA 404,099 410,793 6,694
PN = ¢ 54,868 55,762 894 | YAXHHIZIHY 60,687 61,581 894
2Ex3 47,000 50,400 3,400 2x3 ¢ 47,000 50,400 3,400
a¥Fa0+Y 216,922 216,922 - e = 292,444 292,444 -
o] & 84,909 84,909 - SN 3,964 6,364 2,400
IS 400 2,800 2,400 qEg3LEH S - - -
a2 = - - - off H| bl R g3t F 4 4 -
sduUe
[MIYULHE]

MR AE XS0 e Ex5 57t

SHAIE XIS KR T2 oLt S7H: 24008 2




L= =g EEHYS x ol = =313
20228 S H|0|A|o{ME] EE2(A 2Xt =3 MY-M=04t S8
(CHel: 3
Moo N E
2022'4 1%t 20224 2%} 2022'4 1%t 20224 2%}
?- _E_ =7F B-A :I.l _E_ =7F B-A
FZ0MM) £Z0E) SEEA s | FomE | cCCP
| 59,238 59,238 - g A 59,238 59,238 -
edxcygZ - - - 2ds5EHYS 23,962 23,962 -
AlMeANMEd - . Sl A AN E Y 35,076 35,076 -
o & & 59,038 59,038 - o & & 200 200 -
g+ 4 200 200 - =+ d - - -




m 20224 = SOIO|AIOME] 2Xt =F MY FAHIM (2

(EHH R
olltaks 20224 1% | 20228 2% | o .
o 3 =2 F=Z0LHA) =0 4k(B)
] Al 69,056 75,750 6,694
01 YAXEEHF+ 21,756 22,650 894
11 YAaH|849 21,756 22,650 894 | ;ﬁlgwl%m addl te
113 A 2|2 21,756 22,650 894
03 ExZ4¢ 47,000 50,400 3,400
41 Ex34+¢ 47,000 50,400 3400 | jyos 2xmOIE HUX|UD X120
M AE BXRZ 47,000 49,400 2,400 e =x3 A
413 AR ExF - 1,000 1,000
10 &4¢ 300 2,700 2,400
10 &¢ 300 2,700 2,400 ’ jﬁﬁfifa S XS Al e
1014 7|EtE ¢ 300 2,700 2,400




m 20223 = SFHIOIH O ME] EE2[A 2%} F=ZF MY MM (2

ALQE
ol that= 2022'3 1% 2022'4 2%t S2E-A) sz
= 3 | = FH0MA) FgoMe) | T .
g A 59,238 59,238
09 o|&3 59,038 59,038
91 YAH & 59,038 59,038
911 Mz ojg3 59,038 59,038
10 &g 200 200
101 49 200 200
1012 O 20| "= 200 200
"M HES U EHSELLA - -




m 2022 = SZHIOIHIHE 2Kt = ME MM

(Erelmel)
A kil ioii;ﬁ: At ioizl'_j 2% Z #(B-A) HZE UY
2 & 2 T30 HA) =70 4+kB)
g A 33,424 40,118 6,694
01 YARRES 29,460 30,354 894
03 AF & H| 29,460 30,354 894
312 g 29,460 30,354 894 [, jy2 A ZAHIEA o4 T2
311 4 A H| 25,260 29,214 3054 | I 2R
312 $87|7H| 2,400 540 1,860
314 o 2 b 1,800 600 A1,200
04 BEZ - 3,400 3,400
o F o : 3400 340 | Mgy sxzelE, U Ko
132 9 H - 3,400 3400 | HE =ES S
137 7|EF2 QH| - 3,400 3,400
07 EXlE 3,964 6,364 2,400
o7 X B 3,964 6,364 2400 |« Azt ot SHAE X212 X| 20|
nE KB 3,964 6,364 2400 |E Ot =3
611 ®™ X = 3,964 6,364 2,400




202245 STH0|H 0| ME SHS|A| 2K 57 MZ FAIM(2h

[0

- Ol ks 20224 1% | 20229 2% | .,
zl_} 3 = F=Z0LHA) F=404kB)
g A 59,238 59,238
07 EX= 200 200
7% X = 200 200
M X = 200 200
611 & X = 200 200
10 M3 A THIF XEELLA) 59,038 59,038
10 M3 X THIF XEELLA) 59,038 59,038
101 2YSLHEF W HINMEHF K& 59,038 59,038
1011 2ESLHEUZ X|E 23,962 23,962
1012 Alg&tA M EH | XIE 35,076 35,076




